English 2019 set 1
Note: All questions are compulsory. Each question carries one mark.

1. He will be doing his work. (Identify the tense)
(a) Past Simple (b) Future Continuous
(c) Present Perfect Continuous (d) Future Perfect Continuous

2. in the canal is a good exercise.(Use a Non-finite verb)
(@) To swim (b) Swimming (c) Having swum (d) Swum

3. He gave me on rupee note.(Use a determiner)
@A (b) An (c) Any (d) Some

4. A girl who is about to be married. (Write one word substitution)
(a) bridegroom (b)Bride (c) Alien (d) Bachelor

5. The train (leave) before he reached the station.
(Use Past Perfect Tense)
() Had been left (b)Left (c)Had left (d)was left

6. We expect the government to do everything us.
(Use correct preposition)
(@) Of (a)For (c) With (d) At

7.You be careful while driving. (Use correct modal)
() Need (b) Can (c) Must (d) May

8. Give the meaning of the idiom. "All Greek"
a) Beyond one's comprehension (b) Easily'understandable
(c) Conspicuous (d) Perception of,a situation

9. The servant has posted the letter. (Ehange the Voice)
(2) The letter posted by the servant.

(b) The letter has been posted by the servant.

(c) The letter have posted by the servant.

(d) The letter have been posted by the servant.

10. Rekha said. "l am learning this art."

(Change into Indirect Speech)

() Rekha said that she is learning that art.

(b) Rekha said that | was learning that art.
(c)Rekha said that she was learning that art

(d) Rekha said that she had been learning that art.

Read the passage given below and answer the following questions (11-27):

One night a man came to our house and told me " There is a family with eight children. They have not eaten for days."
I took some food and went out. When | finally came to the family, | saw the faces of those little children disfigured by
hunger. There was no sorrow or sadness in their faces, just the deep pain of hunger. | gave the rice to the mother. She
divided it in two and went out, carrying half the rice with her. When she came back, | asked her. "Where did you go?"
She gave me this simple answer, “ To my neighbour -they are also hungry." 1 was not surprised because poor people
are generous but | was surprised that she knew they were hungry. As a rule, when we are suffering, we are so focused
on ourselves; we have no time for others. We become selfish and self-centered. Having experienced the pangs of
sufferings, we should, rather extend a helping hand to the poor and needy.

11. Where did the mother go after dividing the rice?

(a) Home (b) Market (c) Neighbour's house (d) Temple

12. Fill in the blank with a suitable word:

The faces of the little children were

(a) Disfigured (b) Lovely (c) Cheerful (d) Sweet

13. The faces of the children reflected:

(a) Ease(b) Joy (c) Hunger (d) Greediness
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14. The action of the mother shows:

(a) Selfishness (b) Hatred (c) Gratitude  (d) love

15. Match the words under column A with their antonyms under column B
Simple Hatred

Generous Complicated

16. Give the meaning of the word,‘ sorrow'":

(a) Sadness (b) Happiness (c) Peace (d) Surprise

17. What had they experienced?

(a) Pangs of sufferings (b) Purification (c) Pollution (d) Passion
18. Poisonous gases, emitted from factories, contaminated the air we breathe in. (Give antonym of the underlined
word)

(a) Sanctify (b) Invigorate (c) Taint (d) Purify

19. I don't know to say. (Use conjunction)

(a) Otherwise (b) What (c) If (d) In spite of

20. If I were the prime minister, | fight corruption. (Choose the correct option)
(a) Will (b) Would (c) could (d) should

21. Who has written the chapter 'One Thousand Dollars?

(@) H.G. wells (b) O'Henry (c) Arthur Conan Doyle (d) Leo Tolstoy
22. Who has written the poem* Character of a Happy Man™?

(@) Sir Henry Wottan  (b)William Shakespeare

(c) Sir Henry Newbolt (d) Keki N Daruwalla

23. The character' Portia' was the wife of from the chapter" The Merchant of Venice"

() Antonio (b) Bassanio  (c) Gratiano (d) Shylock

24, Peter said that Geroge could not the .(Chapter The Grief)

(a) Walk (b) Study (c) Think (d) Play

25 The elder sister was married to a in the chapter 'How Much Land Does a Man Need"?
(a) Peasant (b) Tradesman (c) Painter (d) Shopkeeper

26. was the ring leader amongst the boys of the village from the chapter, "The Home Coming”.
(a) Bishamber (b) Phatik Chakravartiy, (€) Makhan (d) lona

27. The character' Harry' belong to the chapter:

(a) Secret of Happiness (b) Fathers and Sons

(c) The Grief (d) The Happy Prince

28. Who is the writer of the chapter 'The-Grief?

() A.G. Gardiner (b) D.V.Jindal

(c) Anton Chekhov (d)Norman Vicent Peale

29. What is the meaning of the word ' aquainted™?

() Enough (b) Embarrassed (c) Continue  (d) Familiar with
30. was the goddess of discord from the chapter' The War of Troy".

(@) liad(b) Eris (c) Mount ida (d) Zeus

Maths 2019 set 1

31. Three cubes each of side 5¢cm are joined end to end then the surface area of resulting cuboid is:
(a) 350cm? (b) 450 m? (c) 350m? (d) none of these

Aad {36 we, figs' & gaa g <t durdl 5 A I § Afanr Aer I 38R 3 52 wee & I8 AT T v43des
J=4r |
(2)350"HT2  (b) 45002 (c) 350Mt2  (d) aEt & &It

32. The hypotenuse of right angled triangle is 6 meters more than twice the shortest side. If the third side is 2 meters
less than the hypotenuse then the hypotenuse is:

(@) 24m(b) 22m26m (d) 20m

A9 fIR AHAE f3gH T dat @Rt A8 3 8 3 © TaIE 3 6 Hi. 0 I= w3 @A<t ATt grrdge 3 24 We I=

3 GrTr gdE J_TT |

(@) 24m (b) 22m(c) 26m (d) 20m
33. In a leap year, what is probability of 53 Sundays :

@) 17 (b)3/7 (c) 0 (d)2/7
By 2 7S &9 53 nizeg wige & ot AgesT Jedtt
(a) 1/7(b) 3/7 (c)0 d)2/7
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34. If sin (A + 36°) =cos A where A + 36° is an acute angle then value of A.

(@) 30° (b) 28° (c)29° (d)27°

A sin(A + 36°) =cos A fH8 A + 36° BT I 3t A T HS J=dT

(@) 30° (b) 28° (c) 29° (d) 27°

35. In what ratio does the point (-4,6) divide the line segment joining the points A (-6,10) and B (3,-8)
(@ 1:3 (b) 2:7 (c)1:7 (d) 4:7

< g A (- 6, 10) W3 B (3, - 8) & THEEE =gl ur & &€ (- 4, 6) fIA wigurs R 34T
@ 1:3 (b) 2.7 (c)1.7 (d) 4:7

36. The median of the data 78,56,22,34,45,54,39,68,54,84

(@) 45 (b)49.5(c)54 (d)56

wigfaait & Hitar Je9f- wig3 78, 56, 22, 34, 45, 54, 39, 68, 54, 84

(@) 45 (b) 49.5(c)54 (d)56

37. The number (2- v/3)2is :

(@) A natural number  (b) an integer
(c) arational number  (d) an irrational number

(2- v/3)? o e St 329t

(a) Y3 Afemir (b) Uga Wi (c) Ufgne Afem (d) wiufane Hfemr

38. If the sides of a rectangular plot are 15 m and 8m, then the length of its diagonal is

(@) 17cm (b) 23 cm (©21m (d)17m

Ao s witearg iers ©hit garet 15 HE w3 8+, I& 37 8r © feggs & S J=att |
(a) 1770, (b) 237 MY (c) 21 (d) 17T

39. The circumference of a circle must be.

(a) A positive real number (b) a whole number
(c) a natural number (d) an integer

8 gag T UfgHy J=4T |

(a) T&3HL TR Aitmir (b)) HYFS Ffemr
() Yfe{f3t FHifemir (d) UJ& Hfemrr |

40. If d is diameter of a circle, then its area is

(a) wd? (b) gdz () gdz (d) 2md?

‘AT fIR Fag T fanrr d 3 37 8F T §39es J=ar

(a) wd? (b) gdz (c) gdz (d) 2md?

41. Which term of the AP 92, 88, 84, 80............ is 0?7
(@23 (b)32 (c)22 (d)24

wig JIfEf3d BT 92, 88, 84, 80........... T fagg uT 0 J=4r |
(@)23 (b)32 (c)22 (d)24

42. 1fp—1,p+3,3p-1arein AP then p is equal to:

(a) 4 (b)-4 (c)2 (d) -2
AAIp-1,p+3,3p - 1 i I3 B R I& 37 p T WS J=ar
(a) 4 (b)-4 (c)2 (d) -2

43. The minute hand of a clock is 21 cm long. The distance moved by the tip of the minute hand in 1 hour is
(@) 21 wem (b)42 T cm (©)105rcem (d)7mcem

Aad 8 w3t & fifer =gl gt & dardt 21 At 3 37 Qo i wie g folat gt 3w 34f-

(@) 21 mem (b)42 T cm (c)105mrem  (d) 7mem

44. If tan A = x/y then cos A is equal to

x2+y?

x y x2—y?
Oy Opsr Oy 0Oz

Add tan A = x/y 3t cos A T HB J=Ir-

x y Xz_yz X2+y2
Oy Ops Oy O5:
45, The value of v/3 cosec 60°-sec 60° is:
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(@)1 (b)0 (c)2 (d)-1

/3 cosec 60°-sec 60° T HS J=TT |

(@)1 (b) 0 (c) 2 (d)-1

46. If two positive integers m and n are expressible in the form of m = pg* and n = p3g? where p, g are prime numbers,
then HCF (m, n) =

@pa (b) pg? () p’® (d) p°g?®

T & 3HE At m=pg® W3 n = p® o2 , ff8 p W3 q W3 Hftmief I8 3T H.A.E (M, n)=

@ pg  (b) pa? (c) P’ (d) p°a?
47. If x-2 is the factor of the polynomial p(x) = x2-4x+k then the value of k is

@8 (b)-4 (c)4 (d) none of these
AT x-2 SGUT p(X) = X? - 4X + k T JEES I 3Tk T HS J=4r
(a) 8 (b)-4 (c)4 (d) €t & &It

48. The value of k for which the pair of linear equations 4x+6 y - 14 = 0 and 2x+ky-7= 0 represent parallel lines is
(@) k=3 (b) k=2 (c) k=4 (d)k=-2
ST 4x + 6y - 14 = 0 and 2x+ky- 7 = 0 @ AH3T 4= T AF" J 37 k T S I=JT -

@k=3(Mb) k=2 (c) k=4 (d)k=-2

49. A circle has number of tangents

(@1 (b) 2 (©0 (d) Infinite
(a) 1 (b) 2 ()0 (d) Smiz

50. The arithmetic mean and mode of a data are 24 and 12 respectively, then its median is
(@25 (b)18 (c)20 (d) 22
A oA it T Hos w3 g8d =g 24 w3 12 3, 37 Gret Hitar-

(@25 (b)18 (c)20 (d) 22

51. The probability of an impossible event Is.

@0 (b) 1 (c) ¥ (d) None*of 'these
IR wiHsT Wea & Agres J=att

(@) 0 (b) 1 (c) ¥ (d) =t & &It

52. If the point P (x, y) is equidistant from A(5, 1) and B (-1,5) then
@) 5x=y (b) x =5y (c) 3x =2y (d) 2x =3y
Aad A g p(x, y), A (2, 1) W3 B(-1,5) SIS g 3 I 3

(@) 5x =y (b) x=5y (c) 3x =2y (d) 2x =3y

53. The value ofJ6 +V6+V6+ .0 is

@4 (b) 3 (c) % (d) None of these
\/ 6+vV6+V6+ ......0 ST HB I |

(a)4 (b) 3(c) % (d) I & &t

54. The volume of two sphere are in ratio 64:27. The ratio of their surface areas is

(@) 1:2 (b) 2:3 (c) 9:16(d) 16:9

Add T I 2 WieIsT T WEUS 64:27 I 3T BTG B AIT T U3ISS T WEUS JIaT-
(@) 1:2 (b) 2:3 (c) 9:16(d) 16:9

1+si .
55 |~ %is equal to
1-sin¢

(@)sece +tang (b)secep —tang (c)sec? ¢ + tan? ¢ (d) sec? ¢ — tan? ¢

1+sin v
2SN o g Jear |
1-sing =

(@)sece +tang (b)secep —tang (c)sec? ¢ + tan? ¢ (d) sec? p — tan? ¢
56. Volume of cylinder is
(@)2mrh (b) 2mr(r + h) () %nr 2h (d) Ttreh
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fAg3g e wfess
(@)2mrh (b) 2mr(r +h)  (c) inr 2h (d) mr*h
57. Value of sin? x + cos? x =?

(@1 (b)o (c)2 (d) 1/2
Sin? x + cos? x = T HB I ?
(@1 (b)o (c)2 (d)1/2
58. The lengths of two tangents AP and AQ drawn from an external point A to a circle is
(@) AP=AQ () AP<AO (c) AP>AQ (d) none of these
JoId © Fadt g A 3 o I @ FUIE et AP w3 AQ T durgt
Joan -
a) AP=AQ (B)AP<AO (c)AP>AQ (d) I & &t
59. A box contain 3 Green balls, 5 Blue balls and 2 Black balls. Then probability of getting a Blue ball is:
OF ®)= (©)2 (d) =
i o &9 3 II JiTT, 5 SIBit JieT w3 2 TEMIF Jier I 3T 31 Jie weE & Heresr J=4i-
OF b= © (d)
60. One of the roots of the quadratic equation 6x? - x - 2 is
(a)5 -3 ©-3 (@-1
< W3t AHiETE 6x% — x - 2 = 0 < i fAgg I3
1 1 2
OF b)-5 ©-> (@-1

61. The areas of two similar triangles are in a respectively 9cm? and 16cm2 then ratio of there corresponding sides is
(@) 3:4 (b)4:3 (c)2:3 (d) 4:5

A T f3gA T ¥39es gHEg 9 A2 ui3 16 A2 3, 37 Gas’ Emif graet T wig3 J=dT-
(@) 3:4 (b)4:3 (c)2:3 (d) 45

62. A dice is thrown once, then the probability of even.number-is

(@13 (o (c)2/3 (d)1/2

Aad 8 uA § g @rg dfenr Ater I 31 8r LI ffR3 Aftmir wige O HeresT J<dft-
(@13 (o (c)2/3 (d)1/2

63. If the quadratic equation has equal roots then the discriminate is:

(@) D=0(b) D<0(c) D>0 (d) none of these

Add fTA T W3t mitegs e fieat 99759 96 3 @A T D ot I=ar

(a) D=0 (b) D<0(c) D>0(d) = & &t

64. Area of sector if the angle of sector is 90° and radius 14 cm is

(@)308cm?  (b)154cm2  (c) 153m? (d) 108 cm?

w3y fenA 14 7t o8 g Fag © wog fonrd U3 T 939es U3 ad frAer aF 90°
J |

(a) 308 cm? (b) 154 cm? (c) 153m? (d) 108 cm?
65. If the sequence 2,4,68.......... are in AP then the eight term is

g IfESSTBH 2, 4,6,8......... TT 8T UT TRH-
(a)18 (b)16 (c)14 (d)10
Science 2019 set 1

66. Name the chamber of heart which receives deoxygenated blood from vena cava.
(a) Left ventricle (b) Right ventricle (c) Left auricle (d) Right auricle

Hat fHI" (Vena cava) 3 WA IfJ3 B s T fdggT ¥re U3 daer J-

(a) ¥ SIS (b) AF 2B (c) HE" WIS (d) AF WIS

67. Riya's Father has been advised by a doctor to reduce his sugar intake. Name the hormone whose deficiency causes
it

() Adrenaline (b) Thyroxin (c) lodine (d) Insulin
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I @ uzr /it & e & 3F6 KT we Hag (b3) 8t € Ag9 &3t J1 fog? Ians S we ags feg Jerd -
(a) M3I&BS (b)ardidais (C) wieSdis (d)fFaEs

68. Where an object should be placed in front of a convex lens to get a real image of the size of the object?
(a)At the principal focus of the lens (b) At infinity
(c)At twice the focal length (d)Between the optical center of the lens and its principal focus

forR =3 T THSfE W3 IS Wiad 3T Y3 96 Bd <A § €33 8an © AaHE fo Jftmr 7=
() BeAT Hy T3 63 (b) Wi&3 €3

(c) SH Tt <t Tt €3 (d) BoH © YarH ded w3 e A € fgag

69. The least distance of a distinct vision for a young adult with normal vision is

(a)25m (b)15cm (c)25cm (d)25mm

ATIS ferct © fond St B8 AURC IR T wBU3H ol ga1 I

(@)25m (b)15cm (c)25cm (d)25mm

70. Which phenomenon is related to twinkling of stars?

(a) Atmospheric refraction (b)Reflection of light
(c) Tyndall Effect (d)Scattering of light

foH Ygre ©rar 373 feHfeHgR I%-
()T GHSHI WIS ()Y H T Ud=d3s (O)fESBYE= (dysH T figer

71. Flow of energy in an ecosystem is always:
() Unidirectional b) Bidirectional (c) Multidirectional (d) No specific direction

UfgAfEf3e Y=o feg @97 & Yeo-
(a) foar It femr freg der 3 (b) 2& fere feg ger d
(c) =g femret feg der I (d) =t fsmfo3 fomr feg &t der

72. While cooking, if the bottom of thewessel.is getting blackened on the outside, it means that:
(a) The food is not cooked completely (b) The fuellis/not-burning completely,
(c) The fuel is wet (d) The fuel is burning cempletely

376 UrgE AN Aad g © 38T TI9 T5T I TR 3ifen 3 miRed &
(a) 376 YI gu Rg &t dfemrr J1 (b) I8 Yt 37 &t As faar I

(c) 5= fifer 3 (d) I8 YR 3T AS 9T J |

73. IUPAC name of CH3;CH,CHO is?

(a) Propanoic acid (b) Propanol  (c) Propane (d) Propanal

CH3; CH.CHO T &™H I -

(a) J&fea Wiz (b) JI&S (c) I (d) P&

74. An example of homologous organs is:
() Our arm and a dog's fore leg (b) Our teeth and an elephant's tusk
(c) Potato and runners of grass (d) All of the above

HHA3 WidT S @erggE I -
a) AT3™ I8 W3 o3 T I Ud(b) A/ S w3 JE 2 B
(C) WG W3 g it et (d) Quga3 A I

75. Three elements B, Si and Ge are:
(a) Metals (b) Non-metals (c) Metalloids
(d) Metal, non-metals and metalloids respectively

35 33 B,Si W3 Ge I&-
(@T3"  (b)wTr3t (c) GUT3T (d) FHII T3, w3 w3 Qs

76. The anther contains:
(a) Sepals (b) Ovules (c) Carpel (d) Pollen grains
g ffg drderd |

(a) IS Uit (b) iz (c) A3t ang (d) ST e

77. The ability of a cell to divide into several cells during reproduction in Plasmodium is called:
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(a) Budding (b) Division (c) Binary fission (d) Multiple fission
UBTHHSMH © YroEs [ 8 A% T widd At &9 fegvis § afde Ial

() IS (b) ys3dss  (c) SH3S (d) STE3S

78. Where fertilization does takes place in human beings?

(a) Fallopian tube (b) Ovary (c) Uterus (d) Vagina
HEH Her AT €9 fonos faa J=t 31

@)Wz =fge (b) Wizaw (c) SoTar (dyuast

79. The 3R's to save the environment are:
(a) Reduce, Recycle and Reuse (b) Redial, Reproduce and Redraw
(c) Regeneration, Recover and Reshuffle(d) None of the above

TITIT S FUQE B R ITI-
(a) Reduce, Recycle and Reuse (b) Redial, Reproduce and Redraw
() Regeneration, Recover and Reshuffle(d) &t &t

80. The element X has electronic configuration 2,8,8,2. It means that it belongs to:
(a) Second period and second group (b) Fourth period and fourth group
(c) Fourth period and second group (d) Second period and fourth group

5 33 X & fedacfod 39319 2,8,8,2 I oA T H3IBE Qg Heu e I |
(a) TR WIMZ "3 TA AU &% (b) T8 WTMZ W3 TR ITU S
(c) BB UISMI 23 TA AU &5 (d) T UITM3 w3 B8 IgU &8

81.Fe; O; +2A1  AlL.Q; + 2Fe Above chemical reaction is a example of:
(a) Combination reaction (b) Double displacement reaction
(c) Decomposition reaction (d) Displacement reaction

Fe, O3 +2A1  ALDs + 2Fe.

U3 AHlag® fom < Gerags I-

(2) HAE farfamr (b) SIS FemEmIs Yf3fIfdn
(c) »ues fafanr (d) feraus fafanr

82. Name a metal which is preserved in kerosene:

() Sodium (b) Gallium (c) Cesium (d) Iron
EA T3 T & ¥R A § 1t 2 38 R Ifimr Ater I
(a) ASMMH (b) TS (c) FeH (d) wrfegs

83. An element reacts with oxygen to give a compound with a high melting point. This compound is also soluble in
water. The element is most likely to be:

(a) Carbon (b) Calcium (c) Silicon (d) Iron

fEx I3 wrarre &8 YIifafanr I9a €8 fuuse nid T8 Uige gerger J Ifeg Uige uret Re & weeis J1

AT 3d3 T 339-

(a) II=S (b) ABHH  (c) HASaS (d) wrfegs

84. Impurities of sand and rocky material present in an ore is called as:

(a) Mineral (b) Alloy (c) Gangue (d) Solder
T3t 3 ot I Sot-ur3 fegsh wigth i f T, 33 wife § st afde 9% 2
(a) Hfed (b) fHEI3 T3 (c) dfar (d) #5339

85. Which part of the brain maintains posture and equilibrium?

(a) Pons (b) Medulla (c) Cerebrum  (d) Cerebellum
forar T fag3 3791 7Ol @ WHG 3 H3Ss 58 §3geH I 2

(a) IR (b) A3 (c) AJEIH (d) ASTEBH

86. A Mendelian experiment consisted of breeding tall pea plants bearing violet flowers with short pea plants bearing
white flowers. The progeny all bore violet flowers, but almost half of them were short. This suggests makeup of the
tall parent can be depicted as:

(@ TTWW (b) TTww (c) TtWw (d)TtWww
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H3% © g Yuid1 g 89 Heg © U g™ © 39131 28 Ao, T Hade 86 Ufont fiat © AeT 28 s, &8 Jarfamr
famim frgst S H3s € A Ufonwr 9 35 Saret Ia1 8 7, Ud 89« 9 Sa18d1 wit 86 As| R 3 fqar 7 Aaer I
3 38 Aaa Ufonr & wiagfid Ig&T foHs At -

(a) TTWW (b) TTww (c) TtWwW (d)Ttww

87. A doctor has prescribed a corrective lens of power+1.5D. Find the focal length of the lens. Is the prescribed lens
converging or diverging?

(a) 0.66m, converging (b) 0.66m, diverging

(c) 1.66m, converging (d) 1.66m, diverging

JIe IFET + 1.5D AT T AAfC3 Bod fogurfaz 9er I | ad T <aH Tt [t 32 Baa wigadt I 7

WUATT-

(a) 0.66m, WfgATST (b) 0.66m, WA

(c) 1.66m, WA (d) 1.66m, WA

88. No matter how far you stand from a mirror, your image appears erect. The mirror is likely to be.
(a) Plane (b) Concave  (c) Convex (d) Either plane or convex

foR Taus 3 A St & gt €3 12 IR, Ius  Eifdg onmr ft fifar Jer J | s Ig 3 Taus I-
(2) A=V AH3S (b) ATB W3S (c) A=E 3T (d)A 3T AHSB3 AT €38
89. An electric bulb is rated 220 V and 100W. When it is operated on 110V, the power consumed will be:

(a) 100W (b) 75W (c)s0 W (d) 25W

foA famedt g89 €3 220 Vv w3 100W g3 I 7 frr § 110V €3 T8 J9e 3* for enirar @931 B3t J= |
(a) 100W (b) 75W (c)s0 W (d) 25W

90. Sl unit of electric power is:

(@) Joule (b)Watt (c) Ohm (d) Coulomb

oSt Aast € S| feargr 3

() T8 (b) =< (c)8TH (d), FEH

91. Plaster of paris is prepared by heating gypsumrat a temperature of.... m...

(a) 370K (b) 373K (€) 473K (@)470K

frumH & fd& 3 3 99 996 &3 fod usTHed e Ufgn R seser 3 -

(a) 370K (b) 373K (c)473 K (d) 470K

92. What is the name and chemical formula of the main product formed by heating baking soda?
() Sodium bicarbonate, NaHCO; (b) Sodium carbonate, Na; CO3

(c) Sodium bicarbonate, Na, COs; (d) Sodium carbonate, NaHCO3

ST AZ™ § I9H I 3 Tea TS GIUT T oTH w3 IArefed 3T o I-
() AT S8iarg=se, NaHCOs (b) ASTTH =SS, NaxCOs
(c) AT S8 Ig=de, NaxCOs (d) RS FI=deE, NaHCO3

93. If one of the metal in an alloy is mercury, then it is called as

(@) Brass (b) Amalgam  (c)Solder (d) Bronze
Aad fHrg3Tr3 R s o3 urgr I 3t fem § ot wiee Ia-
(a)ilizs® (b) WABIH (c) #B39 (d) AT

94. What happens when dilute hydrochloric acid is added to iron powder
(@) Iron hydroxide and hydrogen gas is produced

(b) Iron chloride and oxygen gas is produced

(c) Iron chloride and hydrogen gas is produced

(d) No reaction

ot ger I 7S u3® 3389 g 89 gas €3 urfenr /e J?
(a) Wes TEIINIAES W3 TEIZIAS JiH Je7 I< Ia

(b) Wfeds IBIHZ W3 WaHHAS JH JTr JB I& |

(c) WEs SBIEF W3 THIIAS IH U g8 Is|

(d) It ffanr &It It |
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95. Choose the correct option. Magnetic field inside a long straight solenoid carrying current.
(@) Is zero (b) Decreases as move towards its end
(c) Increases as we move towards its and(d) Is the same at all points

OEERSEE (b) for B A9 <5 A &% Weer I
(c) AR fHg e duer J | (d) A e @3 sa=g der J |

96. The power plant which converts the potential energy of falling water into electricity is:
() Nuclear power plant (b) Biogas plant(c) Thermal power plant (d) Hydro power plant

fg3 Ued ugic 99 fS9 urel & Afafsw @9 & fawst (g gu3fas iz 7w J?
(a) fSEaEMI URI Uge  (b) TTeCHH uBie
(C) BIHB Ued Usc (d) Tfezg Ueg usie

97. Molecular formula of ethane is CoHg, it has
(a) 6 covalent bonds (b) 7 covalent bonds (c) 8 covalent bonds (d) 9 covalent bonds

886 T WES §39 CoHs, I, fer fo-
(a) 6 AfTHATS 906 IS | (b) 7 AfTHAAS 506 IS
(c) 8 AfTHATS €06 IS | (d) 9 AfTHAAL 506 I6

98. The electronic configuration of an element is 2,8,5,. To which of the following elements would it be chemically
similar.

(@ N (b)P (c)Cl (d) Ar

s yang <t dafox 3939 2,8,5 I | I B B9 fam s foAs grfefea mia3r I=e?
(@ N (b) P (c)ClI (d) Ar

99. Name the largest gland of human body.

(a) Liver (b) Pancreas  (c) Stomach  (d) Small intestine

HEH AST &t A 3 <1 JfEt T SR |

GOAGEIS] (b) dFpwH (o) fider (d) e 3g

100. The role of digestive enzyme salivary amylase in-the-human-digestive system'is
(a) Protein into amino acid (b) Starch'into sugar

(c) Fats into fatty acids (d) Sugar into starch

HER uroT Y=gl 9o 89 wiHaia MorfeH e st i 3 2

(a) JStat it 3w Re sese J | (b) AC9U & H99 Ro ST J |

(€)ScA A I RegeserJl  (d) 99§ Ac9Y Re geserd |
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